Lecture 4 - Sep. 17

Review of OOP

Reference Aliasing & Primitive Arrays



Announcements/Reminders

e LabOP2 due this Friday at 12 noon!

e Labl to be released after LabOP2 is due. ., Jodlp¢(] pss
® Priority: LabOP2 (tutorial videos +|PDF L5

® This Thursday's office hour will be re-scheduled.




Use of Accessors vs. Mutators

class Person {
[voidlsetWeight(double weight) { ... }
double getBMI() {[-}

b yebmv

e Calls to mutator methods cannot be usé¢d as values.

o e.g., System.out.println(jim.setWeight (78.5));
°© e.g., double w = (=
o e.0., st Eiieii Gt iei SN

e Calls to accessor methods should be used as values.
o e.¢g., jim.getBMI () ;/7()0‘.«74(34[ bt lecuid ont O rebue

o e.g.,, System.out.println(jim.getBMIV()) ; _:Vd;’f
°© e.g.,double w = Jjim.getBMI () ; 6 e
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Method Parameters Slide 49

e Principle 1: A constructor needs an input parameter for
every attribute that you wish to initialize.

e.g.,(Person!(double w, double h) Vs

(Person“String fName, String lName)
e Principle 2: A mutator method needs an input parameter for
every attribute that you wish to modify.

e.g., In Point, void moveToXAxis () VS.
void moveUpBy(bouble uni£\

Principle 3: An accessor method needs input parameters if
the attributes alone are not sufficient for the intended
computation to complete. <) e I0)

-]
e.g., In Point, double getDistFromOrigin () VS.
double |getDistFrom(Point( other)
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Copying_Primitive Values ST mtl] e = ﬁ}l&ﬂ nl[l nICaK 3
int 11 '
int 12 =
int i3 = 3/4 0 [ 2 :
int[] numbersl = (i1) (i2] G3Y¥; !
int[] numbers?2 = new iﬁt[nJmEersl.’length],
for :|.nt()— 0; 1 < numbersl.length; 1 ++)
¥ l/r{umbers2[ ] = numbersl[i]; —

U

}
bnumbers 1 0) = 4;
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int 11

1IneE 12

int i3 = 3;

i [] numgérsl = {11,122,

_ niwbers

numbers’? =

O, 1 < numbersl.le




Copying_Primitive vs. Reference Values

int i = 3; @ Primitive
- ) System.out.println(i == Z"' _ i ‘ —
int k = 3; System.out.println(k == 1 == 7); /éf /72 W’:’f
o wheve pl fEls
Reference
Syste\fz.o‘ﬁt.println( -
Moint p3 = new Point (2, 3)@
Systme.out.println(ps3 == | |) p3 ==/2);
Systme.out.println(p3.x == plx && p3.y == pl.y);
Systme.out.println(p3.x == p2.x && p3.y == p2.y);
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Copying_Ref vV : Aliasi :
opying Reference Values: Aliasing ol 1o = al; cw,,;y@é/ ;:d
e rson alan - new Person('Alan'); F[ Ul = ch\c, sl O 90

Porson -matrk —= new Person("Marl

Person tom = new Person("Tom") ; El Czll f‘?M?,

Person jim = new Person("Jim"); \ 2
erson|] personsl = {alan, mark, tom}; P-’% -4

Person[] persons2 = new Person[personsl.length] ;§ P

for(int(¢i = 0, 1 < personsl.length; 1 ++) | .
personsZ(i personsl il }

personsI[0].se gi! ” !a/\
System.out.println getAge )) ; (A==
System.out.println(alan.getAge()); S

e : ( >T07 LA 7 Person Person | Person
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.setAge(75) age age
———
System.ou prlntln(jlm getAge ( 7.(

7 id!
System.out.println(alan. getAge = 79

System.out. pr1ntln(person€2 0] getAge()); Person
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